0-la tbo Nofes -~ Simple Probability € Odds
Name

Unit 12
O

Sample Space - Yhe \ist of all passible oudcomes
Probability - the vatio (frachon) of the # of oudcomes
wonted to the total 4 of oukcomes

W
P (evmg = ﬁ"&‘?ﬁ i—d

Rol \ing a die
A P@E) B P en#)  C) Plsord) D) Plevenorodd)

@ Bag of marbles | 10-green, 5-ved, T-blue , b=yellow
A) P(blud) B P(redorgreen) &) P(not green)

O Jar of cowms': M0-qnickels , 100 -dimes | 2%—%15, 50- 8] ¢oifs
AP (.ab-‘rﬂ B P(dime) &) ?(ct{*r' or Nickel

D) P (valuw greater than $0.0)  E) P(valug Jessdhan #1)

Iree digaram - used to draw a pichure of all pesside a?#j-m%
@D Make a tree diagram +to find the 3 of putcomes.

Tee exeam - sugar cone or woffle cone

vomla , theedade | vocky yead
nufs of gummy bears



r iaﬁud;ﬂagﬁgﬂmmga
w\nm you toss™3 cdins.

ExH) Tce cregm * _sugar cone or waffle eome.
@ vanilla, choeplate , vocky yoad
mﬁﬁ_rx_%u,ﬁmq_uﬂra -




O |
) Tossinﬁ 3 cons

John needs a b-digit passwerd for his phone .
He can choose from di;ﬁrs 0-9. How many possible

passwords are there

@x1D Ashley needs a b-digvt password for her phone.
She tan choosefrom digits 0-Q. She decides to use

cach ¥ onty one Hime.” How mony possible passwodds
@ _are there?

0dds - the vatio thok compares e ¥ of successes (wanted)
to the 3 of Gilures (1efr - over)
¥ written wWith a colon

SUCCLSSLS

Odds (event) = oolures

@x 1D Rolling a dice |
A) odds (&) _ B) odds (zory)




m . 10-green, 5-red, 7- blue , b-vellow
Bludy ‘a_oddslﬁdo_rgremﬁ’lq

C) _edds (not green) D) edds (not green or vellow)

ex\) Jar of cowns: m;\awm@- #| coins
e A odds ﬁ_ag'r\ ®) cddaldime) ) (oot a nickel)

—@

_@ \£ the odds that Denise wing the vace are 128,
What s We peobelolity that she will win the raco?

@c\ The 'Drb‘rnht\ﬂ-\l Yat ﬁmj_.sﬂma_lik_&!h;tﬂ_léj_
wWhat are m_odd,a«_agmnsi_aﬂm&_m_ﬁdmm_




19. 7o, Nofes -- Pro balor |y of [ndependent Events

Thursday, May 18, 2017 7:32 AM

Com’p ound Evend - is made up of & or more

Simple events.

Lﬂdﬁ;\lmdm}_ﬂmﬂb - te ouf comes of one event

dowes nat affect the outeome
of the other eyent.
ro\\’mg a aie, then ﬂlp\img . cown.

Plovent A ond event® = P(A) «P(®

@ Bog of marbles * L-black, 9-blw , 4-yellow, 2-green
A marble i sdecked £ yeplaced , then a " marble is Selected.
A) P (black, +hen yellow B P (blus, then green)

(5 P (not black, then bluw) D Plblack, +hen back)

2nd Block Page 1



Standard  deck of ’p\a\[mg cards :* Sacards
Hswts: § 3 TR

T3\ I3 cards in each swit © 4,2,34,5¢,7,8,9, 10,7,Q K
A ¥ Ace = A=1

Hearks ¢ Diamonds (Red) /CMDS ¢ dpades (B|0d‘>

Ust o standard deck Up‘pla\}’\r\g coras.
A card is selected & replaced, +then a
ArY card 15 salected.

A) P (ved Hhen 5) B) P, +hen black 3—>

O P(Tor§, then black ey D) P(4 7. A)

2nd Block Page 2



12 -1 b NO‘\'QS - "?\r b\?ab.l\.\ H O'(
Friday, May 19, 2017 7:57 AM DﬁPQRdQK{' g\le.Yd'S

Depondent Events - the oudcome of one evund affects
the oudcome of onother event
0 Bra\m\ag Q& Ccard ¥ \o\\gmg & on the dable,
fen drawing a A" adrd.

ex D Bag of 'warbles® b-black, - bue, H-yellow, 2-green
A mardd is selected, not veplaced, then a 2 warble

s selected. find each probabildy.
A P(black, +hen \]ello@ B F(\é\uf_,%m 8{'@@

0) P(not black, thenblue) 1) Plblack, then black)

2nd Block Page 1



N\

ex ) Standard deck Op?la\/m cards. A card is
chosen, not veplaced, then dhe néxt card is chosen,
A) P (red, $nenS B) P(H,then blackT)

() P(lora, $hen vedeven) D) P(4,7, A)

2nd Block Page 2



la-"c Notes - - Prob. of Not Mw‘cx)\@\\\/
Friday, May 19, 2017 8:10 AM &dkks‘\/ﬁ E\/WS

Mutuolly €xdusive - events thot cannot occur ot Yhe
" Same +Hme.
@0 deeks of cords — ol cannot dyaw & card +hat
Is a heart ¢ a diamond
(we hage bren f) nding fhese pecbalsilities)

No+t Muﬁru@\\\! Exclusne - enonts Hod occur at the same

Hime .
@) deck of cards — c\muo‘wg a yed B

PAoc® = P(A) + P(®) - P(A<B)

@ deck o(p\a\/‘mg cards
A P(ced or 3) B Plblack or even )

Q P(black even or mMultiple of 3)

2nd Block Page 1



exP Bag of marbles: b-ved, G- green, 4-white | 2-purple
* do not replace

A Plred, Hren not white)

B) P(not green, then Pwple\

&) P(nct vred, hen not 9re,en)

2nd Block Page 2



/\

Tulesg‘w%zs,lblot?gém U[\\+ \ &

Theorehical Probaloihty — the vadio of faorable ourmes (wanted)
o the Totel owrcomes, written as - o percend.

Co e @D deck of cards
&b Lo dg @ degga

D dec\%i ‘Oaﬁgﬂ (83) replacemend)

e Julie examines Yeans o a company plant. She expects o find
= Qd&%‘\wfs&lo\?\mi %\ﬁ of QNU\/OQDP TP W

A Pldefect) B Theorehcal prob. of defeod

0 How many defecks are expected in o bakeh of 320 yeans?

@D After receiving complaints, a skatelmard manufacturer inspeced
IO\SC% %koérg.bo rdsS of random. No defeets wWere found in 9492
S e Doaras.

A Find the +theoretical prob. of o skoteocard not having a Aefeat.

B The manufocturer has 3376 SKode boords 1n s ware house .
How many skarelrards are likely to be defechive ¢

2nd Block Page 1



@D Quality QonJ(ro\ inspetted 500 belts o random. They found 15
To be 'defective.

D Find +he theoretical prob. Hhod a belf passes inspection.

B In o production run of 6as% belts, ow many should
pasS Inspechov.

2nd Block Page 2





